
Disassembly:
1. Release tension on the Egg Belts by pulling on the egg belts and clamping them in place.
2. From under the collector, remove and discard the metal Snub Roller Scrapers
3. Release tension on both sides of the Snub Roller Shaft and remove the 5/16” hex nuts, 5/16” bolt and 

spring on the outside only. See Figure 1.
4. Remove the Set Collar from the Bearing on the Roller Shaft. See Figure 1.
5. Remove the nuts that hold the Access Plate in place and remove the Access Plate. See Figure 1.

Figure 1. Removing the Access Cover

6. Remove the flat washer and Snub Roller. See Figure 2.

Figure 2. Removing the Snub Roller

Snub Roller Replacement Kit
DC4 - Part Number 40801-1
DC5 - Part Number 40801-2

ME1527-1 2/98

2 3 4 5

6

7

1

Item Description
1 Roller Shaft
2 5/16” Hex Nut
3 Snub Roller Shaft
4 Spring
5 5/16” Bolt
6 Access Plate
7 Set Collar

ME1527-2 2/98

2

1
Item Description
1 Flat Washer
2 Snub Roller

ME1527AMarch 1998



2

Snub Roller Replacement Kit

Reassembly:
To reassemble the unit, reverse the above procedure using the new Snub Roller and attaching the 
new plastic Snub Roller Scrapers using the included Hair Pins. See Figure 3.
Adjust the tension on the Snub Roller according to the collectors manual.

Figure 3. Unit Reassembly

Item Description Part No.
1 Flat Washer 548
2 Snub Roller

            DC4
            DC5

40500-1
40500-2

3 Hair Pin 13906
4 Scraper 40497
5 Spring 29992

ME1527-4 2/98

2

1

4

5

3

CTB Inc.
P.O. Box 2000 • Milford, Indiana 46542-2000 • U.S.A.

Phone (219) 658-4101 • Fax (800) 333-4191
E-Mail: ctb@ctbinc.com • Internet: http//www.ctbinc.com


